Ornskoldsviks BA
Barometer tototavling 2019-09-10

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 168.1. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 13 219.3 65.26  Ake Lundberg - Anders Elfving 3379 47451 Ornskoldsviks BA
2 15 209.5 62.34  Knut Gauslaa - Tommy Abrahamsson 28023 49166  Ornskdldsviks BA
3 2 197.0 58.63  Elsy Boman - Eva Elfving 14440 47452  Ornskdldsviks BA
4 7 187.6 55.84  Bengt Westin - Gunnar Bodén 43488 43485  Ornskoldsviks BA
5 11 186.5 55.52  Lennart Gidlund - Erling Hagglund 64657 46274  Ornskdldsviks BA
6 14 178.9 53.25  Margit Hagglund - Ake Wikman 46273 37084  Ornskoldsviks BA
7 18 176.7 52.60 Louise Pettersson - Kent Ohlund 30053 63346  Ornskoldsviks BA
8 8 168.0 50.00 Ingrid Sundgren - Eva Eriksson 47455 53815  Ornskoldsviks BA
9 16 161.5 48.05 Thomas Wastlund - Berthold Ogren 57567 63347  Ornskoldsviks BA
10 17 160.0 47.62  Birgitta Fahlgren - Lena Sellin 47453 43479  Ornskoldsviks BA
11 1 156.0 46.43  Barbro Gimbergsson - Karl-Axel Gimbergsson 55801 55802  Ornskdldsviks BA
12 3 154.9 46.10  Tina Olofsson - Gunilla Magnusson 29011 55245  Ornskoldsviks BA
13 4 148.0 44.05  Erik Hornell - Kerstin Forsman 58256 3445  Ornskoldsviks BA
14 6 147.0 43.75  John-Ove Backlund - Rolf Andersson 8964 52457  Ornskdldsviks BA
15 5 145.1 43.18  Sten Haggstrom - Lars Ahlenius 32558 34696  Ornskoldsviks BA
16 10 130.9 38.96  Marianne Sjostrom - Ing-Britt Abrahamsson 67410 43481  Ornskoldsviks BA
16 12 130.9 38.96  Anders Jonsson - Olle Olsson 44018 64658  Ornskoldsviks BA
1 a K2 Basta kontrakt 2 aE2 Basta kontrakt 3 & D432 Basta kontrakt
Nord v Kn83 3v N =140 Ost v D54 4v O =-420 Syd vKD8 5v V =-650
Ingen ¢ K9632 NS +10732 ov ¢ E742
*K74 & ¢ v & NT #EDKn4 & ¢ v & NT *K9 % ¢ v o NT
41083 4D765 N67 9738 4 KKn843 495 N75256 » EK76 4 Kn108 N7 6244
v 64 vE9 S67977 v 1083 v EKKn92 S75256 vKn93 vE107654 S 6 5 2 4 4
¢ED75 ¢Kn84 076 454 +D ¢ EKn854 06 8 107 7 ¢ KKn1063 ¢ - 06 7 118 9
#10963 #ED85 V76454 #9873 »6 vV 6 8 107 7 3 #EKn105 V6 7 118 9
4 EKn94 4 D1076 495
vKD10752 v76 v2
+10 + K96 + D985
#Kn2 #K1052 »D87642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 6 2v S+2 48 170 140 00| 4 15 4v0O-1 v7 50 130 10|14 7 3aV-1 ¢ A 100 13.0 10
3 16 2v S+1 &T 140 70 7.0|18 1 3vO-1 &2 50 13.0 10|15 6 4vO-1 a9 100 130 1.0
4 15 3v S= &T 140 70 70| 3 16 2v 0= a7 -110 100 4.0|11 10 3vO= +5 -140 10.0 4.0
8 11 3v S= &T 140 70 7.0| 8 11 3vO= 46 -140 70 7.0| 4 17 3v O+1 %6 -170 70 7.0
14 5 2v S+1 T 140 70 70|12 7 3vO= *2 -140 70 7.0| 5 16 2v O+2 49 -170 70 7.0
17 2 3vS= 48 140 70 70|13 6 2vO+2 46 -170 30 110| 1 3 4vO-= 48 -620 3.0 110
18 1 3vS= 48 140 70 7.0|14 5 3v O+l &2 -170 3.0 110(13 8 4v 0= 49 -620 3.0 11.0
12 7 1lvy S+1 T 110 0.0 14017 2 3vyO+2 6 -200 0.0 140(18 2 4v O+1 &2 -650 0.0 14.0
10 - 5.5 10 - 5.5 - 12 5.5
4 4 Kn5 Basta kontrakt 5 D63 Basta kontrakt 6 4 K108 Basta kontrakt
Vast v K102 3NT N =600 Nord v K10983 34 O =-140 Ost v 108765432 5v SD-2-300
Alla ¢ K1064 NS ¢+ K9 ov ¢-
#K1063 & ¢ v & NT #DKn3 & ¢ v aN »D2 LI A Y
49742 &K N666 99 4 EKN87 #4K9542 N7 8846 4Kn6432 4 E5 N2295
vKn86 vE543 S 666 838 vDKn65 v4 S 78846 vE9 v- S22094
¢ Kn853 ¢ ED9 0776 44 ¢1063  ¢852 054496 ¢+ E10764 ¢ 9852 O 10114 8
#52 #EKn974 V7786434 *K2 #E1087 V54496 »6 #EKKn10875V 11114 8
4 ED10863 410 4 D97
v D97 vE72 v KDKn
¢72 ¢ EDKn74 ¢ KDKn3
»D8 #9654 #943
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
15 6 3#0-3 v7 300 140 00|12 11 34 O-1 ¢4 50 130 10| 6 17 4v N= a A 420 130 1.0
11 10 3v O-2 7 200 120 20|18 3 44 O-1 T 50 130 10|15 8 4v N= s A 420 130 1.0
13 8 24 S+1 &5 140 100 40| 2 4 2vyN-1  ¢5 -100 90 50| 2 4 5¢DV-1 48 200 8.0 6.0
14 7 24 S= »5 110 80 6015 8 2¢S-1 a7 -100 90 50|16 7 5#0-2 K 200 8.0 6.0
4 17 24 S-1 *2 -100 50 90| 5 1 240= vA -110 40 100(18 3 44 V-2 v2 200 8.0 6.0
18 2 34 S-1 *5 -100 50 9.0(10 13 24 O= +J -110 40 100 5 1 640-1 K 100 4.0 10.0
1 3 34S-2 v6 -200 20 12016 7 24 V= +K -110 40 10012 11 4vy N-1 #K -50 2.0 12.0
5 16 44 S-3 #5 -300 0.0 140| 6 17 4v N-2 #A -200 0.0 140(10 13 3#O0+2 K -150 0.0 14.0
- 12 5514 - 7.5 14 - 7.5
7 4 DKn86 Basta kontrakt 8 4 EKn9765 Basta kontrakt 9 4 D1053 Basta kontrakt
Syd v Kn843 4¢ S =130 Vast v Kn64 5& V D -2 300 Nord v D9653 4NT O =-630
Alla + 842 Ingen + 1096 ov + Kn53
#93 & ¢ v & NT *Kn & ¢ v & NT 8 & ¢ v & NT
4 K109743 & E52 N 6 107 5 8 a- 442 N 3 4 4 108 4Kn8742 4E96 N3 4433
vKD7 v 1096 S 7 108 6 8 v87532  vE109 S 3 4 4 108 v K7 vEKn4 S 34433
¢ KKn ¢ 97 06 3575 ¢ DKn743 ¢ K5 0979 33 + E107 +D8 O 109 9 1010
*K6 #Kn10874 V 6 3 5 7 5 +D64 #E98752 V97933 «D75 #EK1062 VvV 109 9 1010
a- « KD1083 oK
v E52 vKD v 1082
¢ ED10653 ¢ E82 ¢ K9642
#ED52 #K103 #Kn943
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
15 10 34DV-2 ¢4 500 140 00| 7 1 44N= vA 420 110 3.0|12 15 54 V-1 v6 100 140 0.0
7 1 2NV-4 +8 400 120 20|13 12 44 S= ¢J 420 110 3.0|17 10 2NO= +6 -120 120 2.0
13 12 3¢ S+1  ¢J 130 9.0 5.0|15 10 44 N= +K 420 11.0 30| 4 6 44 V= »8 -620 80 6.0
18 4 3¢ S+1 a7 130 90 50|17 8 44 N= *A 420 110 30| 7 3 4aV= 8 -620 8.0 6.0
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17 8 3¢ S= *K 110 6.0 80| 3 5 34S+1l &4 170 50 90|18 5 44 0= *2 -620 8.0 6.0
11 14 3+ V-1 +8 100 40 100(18 4 34 S+1 &4 170 50 9.0| 8 2 5aV= *8 -650 3.0 110
3 5 4¢S-1 a7 -100 10 13.0| 6 2 54 N-1 &2 -50 1.0 13.0|14 13 44 V+1 &8 -650 3.0 110
6 2 44 S-1 3 -100 1.0 13.0|11 14 44 S-1 ¢4 -50 1.0 13.0(16 11 3NO+2 ¢2 -660 0.0 14.0
16 - 6.7 16 - 6.7 1 - 6.5
10 472 Basta kontrakt 11 4 ED653 Basta kontrakt 12 495 Basta kontrakt
Ost v K82 3v O =-140 Syd v 106 3NT S =400 Vast vE10 5v N =650
Alla ¢ E7532 Ingen ¢ E7 NS + EKn64
#Kn62 & ¢ v & NT #E1098 & ¢ v & NT #Kn10872 & ¢ v & NT
«Kn « ED1063 NS58467 109 « 8742 N7 78909 «Kn863 4KD107 N6 6 116 10
v EDKn9654 ¢3 S5846 8 vDKn7 vK52 S77899 v 85 v9 S 6 6 116 10
+ 108 ¢ D64 085975 ¢Kn92 ¢ KD105 0554 44 ¢ K109 #8732 076172
«D97 «E1083 V85975 2D7642 #K3 V55444 #ED53 #K964 V76172
& K9854 & KKn aE42
v 107 v E9843 v KDKn76432
+ KKn9 + 8643 + D5
*K54 #Kn5 *-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 2 4v V-2 +3 200 140 00| 2 10 3NN= +5 400 140 00| 2 10 4v S+2 46 680 100 4.0
12 15 4v V-1 +5 100 100 4.0|13 16 INS+3 &2 180 120 20| 8 4 4vy S+2 3 680 10.0 4.0
16 11 4v V-1 *A 100 10.0 4.0(17 12 24 N+1 5 140 10.0 4.0(13 16 4y S+2 43 680 10.0 4.0
18 5 4v V-1 a2 100 100 40| 8 4 2NS= *4 120 70 7.0|15 14 4v S+2 &3 680 100 4.0
4 6 3vV= *6 -140 3.0 11.0(15 14 2NN= +5 120 70 7.0|17 12 5v S+1 ¥5 680 100 4.0
7 3 3vV= *A -140 3.0 11.0| 1 11 24 N= +K 110 20 12.0| 1 11 4v S+1 &) 650 3.0 11.0
14 13 3v V= *A -140 30 110 5 7 2¢vS= *J 110 20 120|18 6 4v S+1 8 650 3.0 110
17 10 3v V= ¢A -140 30 11.0(18 6 24 N= *K 110 20 120| 5 7 4vS= *T 620 0.0 14.0
1 - 6.5 - 3 65| - 3 6.5
13 4 D9732 Basta kontrakt 14 463 Basta kontrakt 15 » D87 Basta kontrakt
Nord v 82 24 V =-110 Ost v K862 44 O =-420 Syd v D92 2NT S =120
Alla + 86 Ingen + 10952 NS + Kn
#DKn72 & ¢ v & NT *K104 & ¢ v & NT #D109653 & ¢ v & NT
«K64  4Knl08 N55556 «E987 4 KD52 N7 7436 «E942 41065 N8 6 87 8
vKD65 ¢E10 S55556 v109 vEDKn743 S 7 7 4 3 6 v 10865 vKn4 S 86878
¢753 ¢ EKA42 088877 ¢+KD76 ¢3 06 59 107 ¢ E103 ¢ 76542 046554
#E104 #9653 vV 88887 752  #D9 V659 107 *E7 *K84 V46554
aE5 + Knl104 & KKn3
v Kn9743 v5 v EK73
+ DKn109 + EKn84 + KD98
»K8 #EKn863 *Kn2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 13 3NO-3 9 300 140 00| 2 12 49y O-3 #A 150 140 00|18 8 3NS= v5 600 14.0 0.0
10 4 3NV-2 a2 200 11.0 3.0(10 4 4e V-1 *4 50 120 20| 3 13 2NS+2 a7 180 120 20
16 15 3NO-2 +Q 200 11.0 3.0(14 17 29v O+1 ¢4 -140 100 40|10 6 INS+2 v6 150 9.0 5.0
2 12 2¢ O-1 &A 100 70 70| 6 8 3vO+l &A -170 80 6.0(15 1 INS+2 +8 150 9.0 5.0
14 17 2¢ O-1 ¢ 100 70 7.0|18 7 2vO+3 5 -200 6.0 80| 2 14 INS+1 &2 120 6.0 8.0
3 11 2NV= v8 -120 3.0 110 1 13 44 O= *K -420 3.0 11.0|17 16 3# N= .7 110 4.0 10.0
6 8 2NV= v8 -120 3.0 11.0(16 15 44 O= v5 -420 30 11011 5 3NS-1 vT -100 2.0 12.0
18 7 3NO= v3 -600 0.0 140| 3 11 4v O+1 5 -450 0.0 140 4 12 4vS-2 *A -200 0.0 14.0
- 5 60| - 5 60| 7 - 7.8
16 484 Basta kontrakt 17 D3 Basta kontrakt 18 4 KD102 Basta kontrakt
Vast v ED53 4v N =420 Nord v Kn2 3NT N =400 Ost vED 3NT O =-400
oV + DKn1064 Ingen + EDKn106 NS + 8632
#92 & ¢ v & NT #10753 & ¢ v & NT #Kn43 & ¢ v & NT
& Kn2 «D10953 N 9 10107 9 «E76  #Kn852 N9 98809 Ly « EKN763 N35 454
vKKn72 v86 S 9 10107 9 vEK85 vD73 S99889 vK1064 v853 S 35454
¢9753  +82 043364 ¢K98 ¢754 04 3554 ¢+Kn94 ¢+ EDS5 O 108 9 8 9
*876 »EKD5 V43364 2982  #DKn4 V44554 #EKD62 #109 vV 108 9 8 9
& EK76 4 K1094 4985
v 1094 v 10964 v Kn972
¢ EK +32 + K107
#Kn1043 *EK6 »875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 12 24DO-5 ¢A 1400 140 00|11 7 340-3 «K 150 140 00|11 7 3NV-2 +Q 100 14.0 0.0
15 1 24aDO-4 ¢A 1100 120 20|16 2 1¢ N+3 #Q 130 120 20|16 2 3NV-1 +8 50 120 20
10 6 INS+2 & 150 90 50| 4 14 2¢ N+1 #Q 110 90 50| 1 17 2eV= vA -90 100 4.0
18 8 2NS+1 v2 150 90 50| 8 10 2¢ N+1 3 110 90 50| 8 10 2v V= +8 -110 8.0 6.0
2 14 2¢ N+2 &A 130 6.0 80| 1 17 3v V-2 ¢ A 100 6.0 80| 4 14 3NO= v2 -400 6.0 8.0
17 16 2NS= ] 120 4.0 100| 5 13 2¢ N= a2 90 4.0 100| 3 15 3NV+1l 8 -430 3.0 110
3 13 3¢ N= *A 110 20 12.0| 3 15 INV+1l &T -120 20 120| 5 13 3NO+1 2 -430 3.0 110
11 5 3NS-1 s] -50 0.0 140(12 6 2vS-3 v5 -150 0.0 140(12 6 24DN-3 #T -800 0.0 14.0
7 - 7.8 18 - 7.4 18 - 7.4
19 4854 Basta kontrakt 20 4 Kn1097 Basta kontrakt 21 4 K1032 Basta kontrakt
Syd v D854 2v S =110 Vast v EKn983 2NTV =-120 Nord v KD98 ANT N =630
oV + Kn8 Alla ¢+ Kn7 NS ¢ EKKn
»E876 & ¢ v & NT #85 & ¢ v & NT #65 & ¢ v & NT
+103 &« KKn76 N6 7876 «ED8 & K2 N54875 ~Kn74 4 E965 N 9 9 109 10
v1092 vE73 S6 7876 vK4 v 1075 S54875 v1073 v652 S 9 9 109 10
¢ EK42 ¢753 O7 6 566 ¢ 10943 ¢ E8652 08 9558 ¢+ D763 ¢1054 034343
#KKn43 #D102 V76566 #KKn43 £D107 V89558 #Knl1l08 #EK9 V34343
4 ED92 46543 D8
v KKn6 v D62 v EKn4
+ D1096 + KD 4982
#95 *E962 »D7432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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13 7 3#V-3 v4 300 140 00|17 3 504 0-2 vQ 200 140 00| 6 16 3NN+1 v6 630 130 1.0
12 8 24 S+1 #4 140 120 20| 4 16 2NV-1 a) 100 120 20|14 8 3NN+1 a5 630 130 1.0
6 14 INN+1 &2 120 100 40| 2 1 3eVs= 8 -110 80 6.0|18 11 4v N= +K 620 100 4.0
18 10 24 S= *4 110 80 60| 5 15 2¢ V+1 7 -110 80 6.0 5 17 3NN= a5 600 8.0 6.0
4 16 INN= 46 90 50 90|18 10 2¢ O+1 2 -110 80 60|10 12 34 O-6 #4 300 6.0 8.0
5 15 INN= v3 90 50 90|13 7 2NV= v8 -120 40 100 1 4 INN+2 45 150 3.0 11.0
17 3 54 S-2 *4 -100 20 120| 6 14 INO+2 46 -150 10 13.0] 3 2 2NN+1 45 150 3.0 11.0
2 1 INV+1 #6 -120 0.0 140(12 8 INO+2 +Q -150 1.0 13.0| 7 15 4vy N-1 A -100 0.0 14.0
-1 78| - 11 78|13 - 9.1
22 D43 Basta kontrakt 23 4109 Basta kontrakt 24 410 Basta kontrakt
Ost v 975 54 SD-2-300 Syd v 83 44 S =130 Vast v E1087532 3NT VD -1100
ov ¢ KD53 Alla ¢ 1076432 Ingen ¢-
+Kn104 & ¢ v & NT *Kn76 & ¢ v & NT #DKn862 & ¢ v & NT
49 «108 N36293 47632 «KD54 N 109 3 3 5 4ED86 #Kn9543 N7 8955
vKDKn2 vE864 S36293 vE102 vDKn97654 S 109 3 3 5 vD9 v Kn64 S78955
¢ E82 ¢ Kn109 O 107 114 6 ¢+Kn9 +D8 022996 ¢ 753 + K6 055377
#EK875 #D963 VvV 107 114 6 #E543 &- V229296%6 #10743 #E95 V55378
4 EKKn7652 4 EKn8 4 K72
v103 vK vK
¢ 764 ¢ EK5 ¢ EDKNn109842
»2 #KD10982 *K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 4 34DS= &A 530 120 20| 2 5 4vyDO-1 +A 200 140 00| 7 17 4v N+1 #A 450 140 0.0
3 2 34DS= vK 530 120 20| 8 16 44S+2 v2 170 120 20|14 10 4v N= *A 420 120 20
7 15 34DS= ¥vK 530 120 20| 7 17 3#S+1 ©vA 130 100 4.0(18 12 5¢ S= v9 400 100 4.0
10 12 34 S+1  vJ 170 80 6.0(18 12 4v O-1 +A 100 80 60| 8 16 4¢ S-1 o7 -50 8.0 6.0
18 11 44 N-1  vK -50 60 80|11 13 5#S-1 vA -100 6.0 80| 2 5 5vN-2 &4 -100 3.0 11.0
6 16 54 O = *K -600 4.0 100(14 10 3v O= &K -140 40 100 4 3 5vN-2 9 -100 3.0 11.0
5 17 4v O+1 4A -650 10 130 4 3 3v O+l <A -170 20 120| 6 1 6vy N-2 #A -100 3.0 110
14 8 4v O+1 &A -650 1.0 130 6 1 4vDO= «K -790 0.0 14011 13 6Yy N-2 4 -100 3.0 11.0
13 - 9.1 15 - 8.7 15 - 8.7
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